ﬂ'l'H ‘b de'h- Mdm ‘2_ sdl h' 43

@ gxtexg e —9(xida)-d
[ Pl 28 B-w

-~V (xS L :
( 7“%@3’ )

v

T W) w5

ok value - Ly g
- R e

Ql \I:&CO-M) 4@1 §)

i
i3

R

\

)

o

&
Cefl )

= -|’b( x> 30% 4 125 "'U'S)

i 1
ol B T w(2a6)' wso nevass
= P (%1._1_“) K ‘Lt
%

(x.—-3> (x{-l)

9_3. < -,G_ L0

T‘j - . . N
-3 - = :
: - - ) +
WAL~y B |58 o
: ' -~
k] wﬂ =
&1 I
3 H’ll 4 2 L ) . B 1




X \ wotre @

Q! 2
oy 2 TMM% ,

-4
ve-hosd QSlom H@ -4 = (x-u)(m) x=t2

/ T \ Usutemial “‘?h‘“’

, T B
Py g At - 4 4
' . TR - .+
/\ % :
. _ . .
" | ' ‘Rn) g | o .+
&5 (BB NE1) =8 38| ~b -8 = el
..':l--t_i__ -'1-'_7:: L 2| -H‘{'; —-3_1'1»1_ ” 273 -l'lll. . -2_3 B 1) ’.
-3+ -3- 9 sl 13 12 3
9_‘_: g% -9 = (_—Lty_ 2(7&,‘)-7 % (x:..q,) (xﬁ 7_)
= (x-1) Cu»?.) (x—ﬁ'i)('x-t \l’il)
ﬂ’b\',: -1‘4'2-' -—ﬁ\',+ﬁ|'.
- 9
g’j A4 Yz i . f\
/ ‘1=Q-. \ ‘1:-. .e:.zi .
-7 % \ 5K - \ 3%
. = = ¥_~ -4




) tin (CH/4T) = Wala) s ta (v -3 lale)
4\) EM( Jl‘t‘) - J):Qy\(;_{_“ - %Lﬂ(k&l),"iﬂ/‘l\(lwl)_

O (7)Y = LB (aV) - pala)s W(n)
= 1 fn(n) < g ()



Qb

— )= wm(®) y= I (Z)
= 3=
5
1 N
'F"(l) = —2‘61 by

QL ) q""’"‘_ 51:. IM(un): EV‘('531>

(2xt) ) I l$) = 3 2(5)
%L ZL»(%)-Z-ZI’MCS) s haife).
K= — L ()

20 () - 3~ (5)

'0) L’ﬂz (%..)_)1. Lﬁ" (x+l3= / A
fom (&) = 2

@L-zj(x-u) = 4
r-x-2= Y4
x-n-6 = @Q
(%- 3)(w) =0 =191 i wy %23 iady
C) 2 (‘;-w) = 2
b (5-2) = Y-
G-z = 1%

2w = S__éﬁbls .



